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And if there are those who contest the validity of the 'vy, it
should be authenticated through its signatories.

OVERVIEW

The X773 teaches us® that 7" TTY 99PN 1D vyl 0wa oV DM 0Ty
that we view a "ww with 7% as if 7"°2 has already cross examined the
witnesses and verified the truth of their testimony in the 70w. Nevertheless,
the X713 continues, TNXXT X7 71271, the 2101 require wwn a1p if the debtor’
claims that it is forged. The question at hand is whether after this 2’121 nipn
there is a real concern that the 0w may be 71, even without the m>
claiming so, or that there is no real 7> wwn, unless the mMm> explicitly
claims so. If we assume the first option, that there is a concern that a W
may be 7>, then if the Mm% is not present, it may be incumbent upon 72 to
express this concern on behalf of the affected party, and through 7> nivo,
require the W Y2 to be 0°°pn the Tww. Otherwise the 7w will be deemed
invalid. If however we assume the second option that without the m?>
explicitly claiming 7>, there is no reason for 7"°2 to be concerned that a
oW is 7”111, because people generally are not mIvw 71, then (even) in the
absence of the m> there is no need nor any authority for 7" to challenge the
validity of the ww with 7”1 nivv, for we accept the 2w as being valid.
moon will be discussing this issue, seemingly accepting the first option
namely that 7>» 7171w, so that 7"°2 will challenge the authenticity of any
7vw brought before them.

Regarding a m»» who presents a 2°1p» WKW 0w to a M7 and demands
payment, and the m? claims *ny19; there is a NPY?n7 in the X3, One KT 1R
holds *p% "% 12n0w “vwa 77, meaning that (even) if the mM? agrees that
he wrote the 7vw, i.e. he borrowed the money, but he claims that he already
paid it, the Mm% cannot collect the money unless he is o»pn the Tww. The
reason is because the 7% has a 1n of 7. If the M2 would be 7712 1910 the
m%n would have to be o»pn the W, the same holds true by the mwv of

" The X,b 77 X3 explains this to mean that the husband contests the b3, saying that it is forged.
2R, TP
? The term m>/debtor is used loosely here; it refers to anyone adversely affected by the 7w, i.e. a purported
seller, giver of a gift etc.
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>ny1o. The other 7MXR7 X7 is of the opinion ¥*°PY I PPX 12NOW LW 77,
because the 71yv of 170 is worthless in the face of a "vw in the hands of the
mon. Our MooIn generally, will be following the view of 7" who maintains
MMPY TIX 1200V WA AT,

mooin infers from the wording of the 73w» that 172 2°°pN° 177 1OV W° OX:

— 9999110 132390 XYY VAN 29 DY NNYI YYDy YNN NYT 111 U5 HaN
However, as long as the husband does not come to contest the validity of
the v3, she may get married by virtue of the w3 alone®, which declares her
to be a divorced women, even though we knew that she previously was a
married woman, and "7 n°2 does not challenge the validity of this ©3, that

perhaps it may be forged (that her husband never divorced her), and therefore we
should not permit her to marry until she can authenticate the signatures. The reason why
we do not challenge the v3, continues '01n —

— 1339 N2195PN “NINY DIUNT
because of the concern of 7"2, that if we require her to be o°°pn the ©3, and it
may be difficult for her to find proper 2*7¥ to do so°, she will not be able to
remarry and will remain an 7399, therefore the 1139 were lenient’ in her
case, and allow her to marry, even without being o>pn the v 7.

mooin distinguishes between V3 and monetary issues regarding 21p:
— 99110 132330 PN Yan
However when it comes to monetary issues, then 7'"°2 challenges the bearer
of the document to prove that it is not forged, before he is able to collect his
monies. Why does 7"°2 need to issue this challenge, let it be leveled by the debtor etc.,
and if the debtor does not claim that it is forged, how can 7" issue such a challenge?
mooin goes on to explain why 7"™2 will issue such a challenge in the following
circumstances where the debtor is not present; for instance:
= MHNPHNM 0N 12392 XYY ¥H93Y

in the case where a MY seeks to collect his debt not in the presence of the

* The mwn tells us that 777 19y W o, only then must it be nmina o>pn3, otherwise she remarries without
arp.
> 11y refers to the status of a woman who was previously married, however her current marital status is
indeterminate. We are not certain whether she is divorced or widowed, or still married. The word Ny
translates to ‘an anchor’ (of a ship). This woman is also anchored and has no freedom to remarry.
® See “Thinking it Over’ # 1
7 See “Thinking it Over’ # 2
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mY; the M presents his 21 7wW to 7"2 and/or to the family of the m? that
the loan is due, and he is seeking to collect the funds from the estate of the
m% who happens not to be here presently; Or in a case where he wishes to
collect his debt from the orphans of the Mm%, and he presents them with a
7uw that their father borrowed money from him and it is presently due; or in
a case where the mY» wishes to collect his loan from those who purchased
real property from the m?Y, after the alleged loan was made, thereby giving the m>» a lien
on those properties, since they are 72vWwn to him for his loan. In all these three cases the
m? is not present to challenge the m%» that the 217 70w is 7°71; and the family members,
the orphans, and the purchasers are in no position to argue that the 21 0w is forged®,
therefore in order to protect the rights of these aforementioned, 7"2 will present the
challenge to the m°n, that this 70w may be 7 and the mn cannot collect this loan
from the aforementioned until he is 2°°pn the Ww.

moon will presently give a reason why the 72 can (and should) challenge the “vw that it
may be 7™, For one may argue that 7"2 should not be able to claim that the W is
nv1m; either because it is very rare that a "vw should be forgedlo, or because we are
impinging on the M w2 npn of the M1 by accusing him that he willingly and knowingly
forged a "vw etc.,11 nevertheless N1901N maintains that 7"°2 must have the right to Ny
a1,

— 1992 995 »N NPAY XY )5 XY ONY
For if you will say that it is not so, and 7"°2 will not have the right to nivv
711, you will not permit any creature to live! There will be a catastrophe,
because once people become aware that 7"2 will not challenge their M7vW to say that it
may be 7™ —

— M8YN DMTY DINNNTY NITN HVY 2INIY DTN DI HIPY
for everyone'? will be able to write for himself a 7% aww, that so and so
owes him money and he himself will sign as the witnesses, i.e. he will forge
any two signatures he so desires —

= INIPYMI DINMIN 19393 NIY NIV

And he will collect this bogus debt not in the presence of the m?, either

¥ If they were to challenge the authenticity of the 7w, it would only be with a X»w nivv (maybe it is forged,
since they are not sure), which would not be strong enough to require 0w Op.
? Even though 7"2 cannot claim with certainty that the 70w is 5™; nevertheless the 71wv of 7"™3, as a
representative of the m?, is considered a >X71 Ny (as opposed to any 7ww by mmpP? 2w, which is
considered a R»w NIvY).
19 See (W) X777 2,3 13 'oIN.
"It would seem inappropriate for 7"°2 to be making far-fetched claims (with certainty!).
2 Obviously m2oI1n means (only) those with no 2»w &~ and no moral scruples.
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from the orphans or the purchasers and no one will be able to prevent him from
collecting monies on false pretenses. We cannot allow this state of affairs. Therefore it is
incumbent upon 7"2 in such cases, that they get involved and challenge the m» to prove
that his 70w is not 7117, and only then to collect his debt.

mooin will now reconsider, that perhaps "2 cannot be 5™ 1w, and as far as the
concern of ;112 3% »n npaw XY, perhaps we can find another way to protect the innocent.

— 19991 12390 9911 1ND 12V KD 1D2ART NINNY PR N 1N
However on account of the concern for 7°72 937 »n npaw X7, that is not
sufficient reason to prove that 7"°2 is 7" 1310, for even if 7'"2 will not be
oy e for the aforementioned, there will not necessarily be the
problem of "1 npaw XY; because 7'>2 will argue on their behalf, and

challenge the m¥>n to prove that the loan was not paid in full'; and until the
Mm% proves that the loan was not paid he will not be able to collect his debt.

What is seemingly not understood is; if we are ¥179 ¥, that means we agree that there
was a loan, however we claim that it was paid off; but how can we argue that the loan
was paid if the %7 is in possession of the qvw, which would seem to preclude any claim
of ¥179, for that is (one of) the main purposes of a 70w to prevent the M from claiming
that the loan was paid.

In addition if we are to claim 119, how can the m>» prove that it is not 3115? This will
become clearer presently, as N19010 continues to explain how 7"2 can be ¥179 W —

— 9997 9N 292 INT I P99 91D 113571 2N XY NINT 1199
For since the Mm% himself would be believed to claim that the loan was paid
through the power of a %, since he could have argued that the W is

forged. If the m> himself would claim that the 2w is forged (that he never borrowed
money from the 7%7), then in order for the 7% to collect his debt, the %7 would be
required to be 0»pn the MW >7v. This fact indicates that the M? can prevent the m>» from
collecting the debt, when the 0w is not 2pn, by the M claiming that the 0w is 7.
Therefore through the power of 13 we grant the M7 this same right to withhold payment
from the m%n, even if he does not claim 717, but rather he claims ¥119, nevertheless the
M1 cannot collect his debt without being 0>pn the 7vw. For a quw which is not 2»pn is
not really that powerful, it is at the mercy of the Mm%, who can invalidate this 0w by
claiming 7117, therefore until the “vW is 2™pn, it is not much of a W and cannot be

" For the reasons stated previously (See ‘Overview’).
'* The advantage of having 7"2 use ¥ NIvw over 7™ NIvw is; that 3179 as opposed to 7™ is MW,
people pay their loans, and also it does not impinge on the integrity of the m%n as 7> does, for it could be
that when the m? paid the m%n, he did not have the qvw at hand to return to the Mm%, and subsequently when
the m>n had access to the 7uw he forgot that the Mm% paid him. [See 3 MK >"91.]
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used to disprove the claim of the m? that the qvw is ¥179. However once the 0w is 0™pn,
then it has the complete validity of two witnesses that say the Mm% owes the MY money,
then neither the 7190 of 7117, nor ¥175 will be accepted.

Therefore, since the 7% can claim ¥179, and force the MYn to be 0*pn the W, so too can
7"2 claim the 719v of ¥179 and not let the MY collect 7777 %192 89w unless he is 2»pn the
Tww. We see then, that it is possible to circumvent the problem of npaw X7 even if 7"™1 is
not 7> W, only ¥179. The result will be the same; the M will have to be 0>pn the
Y.

There still remains a difficulty. The reason, why when the Mm% is *ny19 W that the 79
has to be o>pn the 70w is because the M has the 17, that he could have been 7717 W10.
If that 2 would not exist (if the 90w was 2™pn, for instance), then the *ny15 ni1vw would
not be acceptable; here however by 7"2, we are now assuming that 7"2 does not (read:
cannot) claim 717, only 179, but we just explained that 175 without 717 is an
unacceptable claim. What good would it then do if 7"°2 would only to be able to claim
¥199 and not 7”1, MO0 continues to address this issue: that since the > has the power
to force the m%n to be o»pn the TvWw through his 7w of *ny1o, so too 72, who take the
place of the MY, can also force the mMn to be 0»pn the W, by their mwv of ¥, even
though they cannot be 7> 1910. They do not need a 2n to force the Mm% to be 0»pn the
7uw, the power of 7"2 stems from the fact that they are in the place of the B,

mdoIn will now prove this point:

— (3,9 97 x9m3 x22) 121 NN 19NN P92 9INT INDI 19 NPT

For we accept the view of the one who maintains in the n3277 R 9527 P99
— NSNN NN YAYIT DINN DY YN DI Y0V ’3)

regarding the case of a certificate of investment'® that was presented to
@’ for collection of the investment'’. The bearer/investor of the 0% 0w

1% See ‘Appendix’.
16 We will assume that the 03 0w was o°™pn, and no 73vY of 7> will be valid.
7 A ©° 70w is a note confirming the investment of a sum of money by an investor with a manager of the
monies, for business purposes. The investor will give the manager a sum of money; let us say $1,000, with
the understanding that the manager will try to make a profit by doing some sort of business with it. The
manager and the investor will both share in either the profit or loss. If, for instance all the monies are lost,
the manager who is responsible for half will have to repay the investor $500. This 0°> qvw arrangement is
categorized by the X ) as being NP 7¥nm M>n nxnn — half loan and half deposit; for we know when
someone borrows money he is always liable to return the money he borrowed, regardless of what happened
to the money. However by a 175 — deposit, even if one is a 72w MW, one is not liable if an unforeseen
accident happened and the 117p5 cannot be returned. So here by the 0°> 7vw the same applies; the manager
was given $1000, and he lost all of it. Concerning the half loan of $500 he is liable and must repay it to the
investor. Concerning the half 11795 of $500 (it is as if) an accident happened and he does not repay it, and
the investor suffers the loss.
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claims that he was not paid at all, and wants to collect the entire sum written
in the 02 7VW from the 21n° of the original manager/borrower. According
to one TMXT IX» the 77 is that the mn/investor swears'® that he was not paid

at all, and he may collect from the 210> half the amount of the 0> quw. He
collects the half that we consider a loan. For the father of the 2»1n° would also have to
pay for it, since he does not have any counterclaim to the 9°> qvw. Therefore the amn’
also have to pay.

— 19 NN 199 11D 129V PNTPOT NIY YaN
However concerning the 17ps/deposit half of the 0°2 70w they do not pay,

for 72 will claim'® on behalf of the o’mn>, that it was already paid to you
by the father, and the 2°»1n* do not have to pay the second half.

mooIn anticipates the following; how can the claim of ¥179 outweigh the power of the
Tvw, since it is a @ pPn W, and we know that ¥179 is not a valid argument against a 0w
o"pn? However this 92 70w is not a regular 7X1277 70w but rather half the q0w is merely
stating that the 7wwn v2 placed a N7pd in the MW of the father. In the case of a N7Pd
even if the 7°pon has a o pn “vW that states he deposited a certain item by the TP\ W,
nevertheless the 9 can claim that the 1799 was 0181, and he will be 2’1105 Going a step
further; the "W can claim that he returned the 179 and still be believedm, because he
has a Wwn of *201x1. This places the 9 in a stronger position than the MY, in that the
2w is believed with the 71vv of ¥175\°n71MT even in the face of a 0™ pn VW because of
the 1 of 10181, which a regular Mm% does not have that specific 1.

From this X713 it is evident that this 71¥v of 175 by 7"2 in the case of 02 7vW is a valid
m1wv and prevents the vwn %v2 from collecting from the omn° —

— YDINI INY 1PV XYT 2) DY 9N
Even though 7"°2 does not (cannot) claim on behalf of the o210 that half
the monies were lost due to an 230:18, nevertheless 7"2 can claim 1m0 and the

' There is a general rule that one who collects from 20> may not collect unless he swears, that he has not
been paid up as of now.
' The xn3 there does not state explicitly that ¥199 119v; however mooIn assumes that this is the manner in
which the o°mn° are M5 from paying the 17pd AXMN.
%0 The 9= will be Mwd from paying for the article. However he will have to swear the o™ vwi ny12w that it
was DIX1 etc.
I The v will be s from paying for the article. However since the reason that he is 7109 is on account
of the 1°», that he could have claimed 101X3, therefore just as if he would have claimed 101%1 he would be
7o from payment, he would however be 211 a 7y12w that it was 101X1 etc., the same if he claims *n71m7, he
is Mwvs from paying but he must swear that *nm;.
2 We are now following the opinion of that one X7 JX» that maintains the validity of W»2 *nama nvw
10IX17
%3 "2 will not claim 103X3, because °2w XY OIX.
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a0 will be Mws. However if there is no 71vv of 10181 of what avail is the 71vv of 175 by
7">2; without the Wn of 101X3 the MWy of ¥1M9 is worthless against a 0»1pn W, MoOIN
continues with his explanation —

— YDINIT 1A Y 1PHITNN 9219 1IN NN DHYANT DIVN
because since their father would have been believed to say I returned the
11770 half to you, and we would have accepted his claim by virtue of his 2,

that he could have claimed Y9183 and he would be believed, so therefore he is also
believed when he claims »n71mi. The same holds true by 73, that their 71v0 of ¥179 is
accepted24 (even though 7'"2 has no °»).

We see from here that since the father is believed to claim 01817 13°n2 »nainn, therefore
7"2 also has the right to claim 1117, and be ‘believed’, just as the father would be
believed, even though 7"2 does not possess this 132 of 101X1, nevertheless since 7"2 takes
the place of the father, therefore any 71yv by which the father would be believed, 72 is
also believed. Therefore the same applies by a pn 1°Rw “ww. The 72 can claim *ny-o;
just as the M% can claim °ny1d and be 7717 1312 MWD, so too 7M1 stands in the place of
the M7 and can claim ¥119, thus requiring the M%7 to be 0*pn the W, even without the
™n of 9.

Therefore we have no proof that 71 P1Iv, because in order to prevent npaw X? we can
accomplish it by y179 niyv, and it will be accepted even when there is no M1 of 7™,
because 7"2 takes the place of the Mm%, and is believed to the same extent that the m>
would have been believed with the 131 of 7>, as in the case of 0’2 W, where 7"2 is
believed with n7117 N, just as the father would have been believed with the 71vv of
10IRIT A2 PN,

mooIN continues to argue that we can prove that 721 Py -
— 19 XY ONRT 9991 10D 192907 NN Y VAN
However we can prove that 721 is 199112 W, from a different perspective,
(not from the case of a 2111 "vW), for if this were not so, and 72 cannot claim
7>, we will have another similar problem, which cannot be solved by the 71yv of ¥179 -
— DY DINN NINN VY IN 991 90V 2N TNNX Y5
Everyone will write a deed of sale, or a deed of a gift, indicating that the
present owner of the property either sold or gifted to him this property and he will

affix the false signature of witnesses on this deed. He will not present this deed to
the present owner, for obviously the owner will rightfully claim that it is a 7™ 0w,
which will require him to be 0p» the 7vw, which obviously he cannot do; rather what he

* The o do not have to repay the 17p9 X329, However they are still 2 a 712w, just as their father
would have to swear if he claimed 10181 or 101X17 1312 "n1m. The 2°mIN° swear XaR 117p0 XYw; that our father
never told us that he owes you anything.
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will do is —

— PIMPHN 0IN’ 12392 XYY NI
and he will ‘collect’ this property in the absence of the original owner,
either after his death, when he will present this W to take away the
property from the orphaned children of the original owner, or he may
present this W even while the original owner is alive to take away the field
from those that purchased the field from the original owner, and show that his

(bogus) deed of sale precedes theirs, and therefore their purchase is invalid and the field
should revert to him -

— YD 907 TV PN NNVNT
For now in these cases there does not exist the option of claiming >ny=s.
The only way 7"°2 can prevent this type of fraud is by demanding of anyone claiming to
have purchased property, and wants to remove an heir or purchaser presently occupying
the property (who cannot knowingly contest his claim that he owned the property before
the original owner died or sold it), is by 7"°2 demanding that the claimant who bears such
a 7w to be 0»pn the W, otherwise we consider it 717, This is a logical proof that 13°1vv
1.

In addition to the logical proof that M50 just presented, Mdo0IN will now prove from the
X n3 itself that A PrIvy:

— 9999112 2559 139390 (3,757 47 DwyY VIV DI DI YO YWIPTY Y Ny
And we may also infer from that which we learnt in the end of wywp wx P95
that 7" is 79°71% 3972 on behalf of 2o -

— PANI 2192 999D N3N 9N 1093 Y3 VITPNY Y19 299Y XNN 29 9INY
for X177 37 said there that a **v» 2°2w who was w>Tp» all of his
possessions to ¥7pi, and consequently the n">w said that ‘I owe that
person a ;73%’°; he is believed; so that we first pay the debt to this person from the

possessions of the ¥ 22w, and then w7pi receives the rest of his possessions. The X713
continues to explain the reason for this is because -

- WIPNN DY NP NYIY DTN PPN AP
There is a presumption that a person will not swindle @w7p:, therefore we
do not suspect that in reality the ¥ 2% did not owe this person anything, he just now
decided to give this person some money, but since he was already w>7pn all his 0°031, the
only way he can give this person money is by falsely claiming that he owed him money

» Ay 2w is a person who is deathly ill, and the o»an were Jpn» that in order that he have peace of
mind, we are to heed his requests (even without a 7°17), even when in ordinary circumstances these requests
would not be honored except with an act of 11p.
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prior to his being w>7pn his 0°033, therefore the w77 was not 91 on this 731 that he owed
to this individual. We do not suspect him of this; because of the accepted rule that 27X "X
WIPA Y RONIP WL

— 1932 HY NP NYIY DTN 9) T>99)
And the X773 challenges this ruling of X137 27 by asking, will a person

swindle his own children, one would think certainly not! Nevertheless we find —
= 9153 90995 N3N 9INRY Y919 299V 11NN Y9INT HNINIYI 199

That X221 21 both said: ‘a ¥ya» 295w who said that “I owe that person a
71, the 17 is as follows:

— 123 PN 31 AN XY PP 191 N
if the ¥ 22w said, in addition to stating that he owes that person money, he
also added: ‘give the money to him’, then we give that person the money,
however if he did not add and say: ‘give him the money’, then we do not

give that person the money. The question is why if the ¥9» 25w did not say 10 we do not
give him the money, why is it different than w7, where the person gets the money even
if the ¥y 2°5w did not say 110, because we assume that he really owes him money since
WP 2¥ RO AW DR PR, here too he definitely must owe this person money for surely
1°12 9 ROIP W 0TR PR?!

— 05191 90Wa 599K NN 297 PP

And the X3 concludes to resolve this apparent inconsistency, by saying

that the case of Ri%1 39 with w7ps is in a situation where the person in

question 1s in possession of a 2% WW, which states that the ¥y 25w owes him

money, and that is the reason why we give him the money; however in -

— DMPN IONRY 0V VIPITA HNINYI AN

The case of »RmwY 29 we are discussing a situation where the person is in
possession of a "uw that was not 2>p», therefore if the ¥ 25w also —

— NYOVYY 1P XY 190 9N XD RYOWY 191999D 199 99N

Said, ‘give him the money’, it is tantamount as being 2%’p» the Jvw, and we

have no choice but to give him the money, as in the case of w7pn. If however

the y9» 20w did not say 1n, he was not 2%p» the 9vw, and therefore we do
not give him the money, even though the ¥ 22 admitted that he owes him money,
nevertheless he does not receive the money, because in reality he may not owe him any
money, and the reason he admitted that he does owe him money is because —

— 13 99N 1732 NN YAYNT NOY NNV

2 See Moo there on X7 7"7 X,7vp, that the admission of the n">w accomplishes that the m>n need not
swear in order to collect his debt (as he would have been required without the admission of the n"2w).
9
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Perhaps he admitted it only because he did not want people to think that

his children are wealthy, therefore he said I owe him money, giving the impression
that his children will not inherit much money, because there are debts against the estate.
That leaves the other person only with a 70w which is not 2°*177, and that is insufficient to
take away money from the omn°.

MooIN comes now to prove his point that *an>% 711 1010,

— NYVY VP NNT NN DIPN D1 DININY 429131 132P0 RY IN)
However, if "2 does not claim ©7"1» for =2%»ns, what has 72
accomplished, for nevertheless he will collect the money from the o210
for he is in possession of a wwW, that states that the deceased — the father of the
21n° — owes him money, and if 7"°2 is not 7> 310, when he presents this 0w, he will

inevitably collect the ‘debt’. That proves that 2>mn°> 7> 17190, and therefore he cannot
collect the debt without W o1p.

mMooIN anticipates a possible rebuttal of this proof and refutes it:

— 199 199307 1Y PN
And one cannot say as a refutation of this proof, that really 5> 11wy X7,
and nevertheless the 0w 9¥2 will not collect the money from the om0
because 7"2 will claim ¥199, and as we said previously that 15 niwv of 7"™2

requires that the m%» should be o»pn the W, as if the M himself would have claimed
¥179, therefore seemingly this proof is refuted —

mooin refutes this rebuttal, for one of the D°X7MX that says this 713977 of ¥y 22w is 27,
therefore the 711¥v of ¥179 is no option —

— 139PY 798 PN 1NV YLV NI NYY SN 29 XNT
Because 27 is of the opinion®’, that a m> who admits that he wrote the
"uw, i.e. that he borrowed the money, but he claims that he repaid the loan,
the 77 is that the 717 does not have to be 2"p» the “vw and the > must repay
the loan®. Therefore since the 712 himself is not believed with ¥179 nivvy, then 72 cannot
claim ¥179, for according to 27 the 7wy of ¥179 is meaningless even against a 70w which
is not 0™pn, and the Mm% has a W of 711, so certainly 7"2 which will not have the n
of 711 cannot claim *ny1d. Therefore we must say that to prevent this alleged m%» from
collecting, 2’ 11w,

2 See x,0> MmN

*® This ruling is in opposition to the ruling we were assuming in 20 till now, that 7% 12n3w Vw31 A7

1P, i.e. that 179 is 7>1a7 o2 1K1, However, 21 disagrees with this opinion.

¥ 1t is self-evident that the entire discussion in Mmoo whether 7"°2 claims 71 or ¥119 (once we accept the
10
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We have concluded, based both on the 87120 of npaw X%, and on the 83 of ¥y 20w, that
711 111y, Now mdoin presents a challenge to our conclusion that 77117 J1°1y0:

— 1339 ONM 229 2V (x,» 97 NP NILT NI P93 99NN ON)
And if you will say; that in the first P92 of %'3 there is an argument
between »''1 and the 329 -
— PPINN 1 PNV 90V X812
Regarding a case where one found a loan document that did not specify a
lien on the borrower’s properties. [The mo» claims that the loan has not been paid and
the MY claims that the Q0w is a forgery.] -
— 991N 920 ONN 2399 99N> XY Y9NIN a7
The 312 say we do not return the 217 70w to the M7 and »''1 maintains
that we do return the "vw to the mn» -
— I 299N PRYI HNINIY 1Y Y9I
And bR establishes this 7awn that we are discussing a case where the
debtor (%) does not admit that he wrote the 7vw; he claims the qvw is a forgery,
and he never borrowed money from the M. The reason why »" maintains that we
return the q0W to the M%7, even though the MY claims that it is forged; is because n"1 is of

the opinion that a 7vw which does not contain in it 2’031 n1*NX cannot be used to collect
the debt even from the M himself; it is a useless WW.

— NNV 29 DY NKY NN 2297 99NN
And the (only) purpose of returning the 10w to the Mm% according to »'"1 is
that he may use it to wrap it on the opening of his flask™, but he cannot
collect with this *'uw. The 13121 however are of the opinion that even a W without

nInR can collect not only from the Mm% but also from a°7avwn 2°033; for they maintain
1910 Myv NInX; the lack of specifying NnX in the 7UW was an oversight by the 7910, but

X120 of npaw N’?), is only if we maintain 1?3”|75 TPIX 12N0W WA 77, since Y119 NIVD is AWNAT 13002 Rl If
however we maintain 12p2 X X 1200w W2 770, because 7217 1AM V1D NIV is not MK, there was
never a question whether 7"2 is ¥179 110 or 7> for it is obvious, as NOOIN states clearly, ¥1719 is no mIVL.
Therefore the X120 of npaw X requires us to say 77» 1w, The question then arises, how is moon
proving that 71 1719w, from 27 who maintains that ¥>°p% 77X PR 1200w qwwa 771? Obviously according
to 17, the 7"*2 cannot claim ¥179, only 7. See "1 7RI R"wAnn. One answer may be that X121 27 both
said this 17 of XIwwWY n™p X2 1N MK R, and it would appear that the manner in which the Mm% is
prevented from collecting his 237 is the same according to 21 and “Xmw, since they both said this 17577
together. Since according to 27 the only way of preventing the Mm% from collecting is through 7»1n N, it
follows that PRmw agrees, and YR is of the opinion, as NDOIN states in X7 7"7 2,2 n"2 (and will soon
[seemingly] state in our '01n), that 1%°>P% 7% 120w w32 770, and nevertheless 7> v, [Alternately,
m»ooIN may be saying that we have proof from the X723 that 771 1°1°1vw (albeit according to 17).]
% This is meant euphemistically.
31 'We do not return it to the 77 for his ‘flask’; because the m> maintains that he never wrote the 0w so it is
not his.
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the intent was that there should be n17nX. Therefore we cannot return the 0w to the %1,
since we do not know who is telling the truth. If we will return it to the m%» he may
collect money under false pretenses.

mooIn will now present his question:
— PPN NY INNN 13299 XY
But now that we concluded that 7111 11°190; why, according to the 32';::ﬂ,
do we not return the "0 to the Mm? -
— Y PN Y 0P INT TPNRY YNINIY XYY NNT
For we have nothing what to be concerned about; let us return the 20w to
the mon, (because maybe he is telling the truth), and the m%n» will present the
"W to the M? for collection. The MY will obviously claim 7>, and then the
mon will be obligated to be o>pn the 7vWw in order to collect his debt, and we

shall see; for if the m7%» is @"pn the "vw then he is entitled to collect his debt,
because he is truthful, while the Mm% is lying —

— 1199 97713 N P09 N1 13 BN 1YY P13 XY IN)
And if the m%n is not a»pn the “ww, he will not collect his debt so in that

case what will the 7% lose if we were to return the "vw to the m>». Obviously
we are not concerned that the m%» will try to collect his debt from the Mm% himself, for as
we just pointed out, that in that case no undue harm can come to the m>.

— NI 921 PYVI KDY 12392 NHY NN NNIY 132YN INT) NON
Rather we are certainly concerned that perhaps the m>» will present the

"W for collection not in the presence of the m?7; he will present it to the

nmmpY or 210 and 72 will not (be able to) claim that it is n; that is
why we do not return the 7w. From this X723 it would seem that 7"°2 is not 7217 310, for
if 9> Py, why don’t we return the 70w and whenever the m» will present it, 7"2
will always require that he be 2pn the "W through 711 navv. This therefore contradicts
what MooIn previously maintained that 717 137100,

mooIn responds:

- 33317 $199 915 YOI MNINT 75 9PV BYLN PN TN I¥T MY YN
And one can say; that the reason we do not return the 70W is certainly not
on account of 5> Pravy X2 for nevertheless even if 77 PPy XY, but

32 It will soon be evident, that this question is also on »"9, why should we not return the 7vw, even if it did
have 0°021 n1*7nX and could be used for collection. See footnote # 35.
33 moon entire discussion is only whether 7"»2 is 7™ W (since it is 1°Ow R?), but certainly 72 will be
175 .
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we will still claim on their behalf that the loan is paid up, and the mwv of
¥199 will prevent the 797 from collecting (if he is not 2”pn the W) —

moon will now prove that PRWw (the X1 a7 P¥2) maintains 1P I8 VWA 770%:
— NYTD2 (3,79 97 x9na N33) DAY 2D PH92 99 X920 HNMY NIT
For **oxmw clearly maintains, in n»w s» P99 (that) the view -
- ”3”‘,75 TP9¥92N0YW 90V DTN NN 2297 NIIN
according to *°»"1 (is); that if the m> admits to the writing of the uvw,

however he claims that it was paid, then the M%7 is required to be 2>p» the
“uw. It follows therefore®® —

— TR1 999981 NN 2P INT I NIN $1997 1IN 91299 PN 199
That since their father (the 717%) would have been believed to claim that
the loan was paid up, and the m>» could not collect without 01p, because

the Mm% has a 1 since he could have said that the v is forged -
- 913992 NOODY 9991 130390 NY 1AT21597 23 Y 9N

so even though as we are wont to suggest now, that 7"2 will not be 1
no i for the o’ and for the 2210°7 N there is no 7117 1A, so what
will 3179 accomplish in the face of a W, since there is no 7217 1 -

— 199 99V 11D 12350 1)1 Y 11%ANDT 1190 DIPNI Yon
Nevertheless since their father had a »» we will have a valid myv of

Y95, which will require 20w orp. We know that we give the 7"°2 the same power that
the father had; namely that ¥179 n1yv by the 7"°2 necessitates 0w TP -

— (3,9 970w %20 NN 999D PID 91D 9INT INDI 19 NPT

For we maintain the 7 as the one who says in the end of nR =227 pap
nhan -

— 0 90V 1) NNNN NN yavdT

that concerning a ©° ="vw, the m>»/investor swears that he was not paid,

but he collects only half the amount of the 0°3 qvw; namely the M *¥n and not the
N7P5 ¥, for concerning the NP5 *Xn their father would have been believed if he would

* oxmw is the one who interpreted this npY>n» in the abovementioned manner.
* From here it is evident that Moo original question that we should return the 7uw is also according to
1", (even) when there is 0021 N1nX. This explains how MdoIN can say that we will be ¥175 31, since n"9
maintains %% 7°9% 2100w w32 77, Otherwise how can NdOIN mention »"1 when we were discussing the
2 non who maintain %P5 7% PX 1205w w2 771? See Footnote # 32
3% mpoin is repeating the same line of reasoning mentioned earlier in the Mdo1N concerning 03 LW,
7 mpoin is now referring to the X713 in »"2 of 21 VW X¥» where MooIn asked that we should return the bW
(proving thereby that we do not claim 71 for the “nn>).
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claim 1071177 because he has a 101X17 12°7, so too with 7"3, even though 7"2 does not 310
0181, nevertheless the 7wy of 1*na1n is valid to prevent the mY» from collecting the %
17297, The same will also apply to this case of 217 “vWw X¥n, that the 7w of ¥11o will
require the M1 to be o»pn the "W (at least according to n").This confirms that we
cannot say that we do not return the 217 70w because we are afraid that 7">2 will not be
able to prevent the Mm% from collecting illegally, for we can prevent the Mm% from
collecting (either) through (7> nNwv or) ¥175 N,

Mmoo will now explain why indeed the W is not returned to the 719,

— NID G IPWIV MY 1NV YANINT 113 99T DT RNDYV 13991 NIN
But rather this is the reason why we do not return the 2117 7w, since it
became flawed by the fact that it was lost™ and in addition the 15 claims
that the "vw is forged -

— 2NN 457 59951 NNY 1PUHNT DD 1Y NI 199N 1210 11 MY PN
the m>» has no legal right to collect with such a "vw even if he can find
witnesses to authenticate the signatures of the "vw for we are concerned
that perhaps he forged the signatures so well that the purported witnesses

(themselves, or any others) that he will bring, will assume them to be authentic, even
though in reality they are forged.

= RPN D27 NINT (x,0p 97 0v) VIV VYT NIYDN %D
Like the case in *vws v p=5, where he placed his hand on a hose to forge
a trembling hand—writing40.
— “9400990 YWY onn yHWYN 19
And this is also how it seems from the interpretation that >"'w- states
there that a1p will not be effective if the 70w was lost (and the M claims 3°17).
We see that it is possible to forge signatures to such a degree that the witnesses may think
that it is the correct signature. Therefore we cannot return the q0w to the m>n, since it is
flawed by virtue of its being lost, and the Mm% also claims that it is forged, therefore we

accept the probability that it is indeed so, and even 217 cannot help. This is the reason
why 7°117° X%, but not due to any concern that 7"2 will not be 711 3.

¥ People do not lose valid important documents. Only worthless documents are not cared for properly.
** Someone brought a 7uw to X127 signed by him. X217 recognized his signature but said he never signed a
document together with XX 12 XnX 27, the other signer. He asked the nuwi %v2 how were you able to forge
the signature of X7X 72 XrX 27 whose hands trembled, and had a shaky signature.
) The actual quote there is 2021 XPUTIR Op 72 X1 KIZAR KT MK — he placed his hand on a rope, and others
say that he stood on a hose and wrote.
4 mooin is (likely) referring to >"wn in Xww 1"7 X,3> n"2 where *"w states: 291w 11,102 0»pn° 'R
IR D 1103 T KD 0 2100w 197 10K 102 ynK: It seems that *"wA is also mentioning two factors; that
it was lost and *X% 7 111’77 who claims that the 0w is 9.
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moon concludes that even though we do not return the Tw to the mM>», when the m?
claims that it is 5>,
=19 D990 DD MTY N8N MIVNNIY 1NIP MY XY ON VAN

However, in a case where the M"Y is not present when the 0w was brought
to 72 after it was found and the m%» found 2°7¥ to authenticate the

signatures of the W, we return®’ the 70w to the M5, and he can collect his
debt with it; for we have no one claiming with certainty that the 2w is 7”7 (as in the
case where the M7 is present and claims 7°>1n), and the Mm% was 0°°pn the W,

$95°12 PINNT 1199 1351919 XY INT AN NIN 9291 1PV NI SN IN)

And if after the mYn was 0>pn the 70w and it was returned to him, the m®
comes and claims that it is 7, it appears to Moo, that the m% will

not be believed at this point since the 70w was properly established to be
valid, for no one originally claimed with certainty that it is 77», and it was subsequently
o™ pPn, it receives that status of a proper 0°p» VW, against which one cannot claim 7.
If however the MY originally claimed 711, that casts aspersions on this 20w, and coupled
with the fact that the "vw is flawed because it was lost, we do not give the m%» an
opportunity to be a»pn the 70w, because we are concerned that he may have forged it so
well that it will be wrongfully o>pn

SUMMARY

mooIn is of the opinion that by 11mn »ww which are presented m»:7 192 KO,
the 1°7 is that 72 1°1w0 and the 121 Y ,mM%1 cannot collect on the strength
of the 7vw, unless there is ovp. The reason/proof that 71 13210 is; for if RS
71172 117V, then 7°72 939 o1 NPaw RY.

19010 said that 7"°2 could be ¥1719 1w and not 711 and still force the MYn to
be o»pn the 0w, since 7"2 takes the place of the MY, and the mM? would be
able to force the m%n to be 0»pn the TwW through 71T WnN2 ¥1ND NIvL,
therefore 7"°2 would have the same power of the m> to force the MY to be
o»pn the uw with 1179 N1YY even though there is no "7 T 7',

This idea, that the power of the 13°» is transferred to 7"°2, can be seen from
the case of 2 2I1N°7 H¥ X¥17 0°2 W, that the MYn cannot collect the 7257 °xXn
because the 13°» of 10181 which the father had, 1s transferred to 7'2.

However mooin concludes that ¥179 nivw while it would work for X777 0w
nevertheless it would be useless for 71nm 7on "ww; therefore in order to

*2 1t seems from Moo that we return the W to the mM» only if he was 0»p» the Tuw. See *"™>a ,7wn Nom.
[See ‘Thinking it over’ # 5.]
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prevent the Npaw X7, we are always 7°11 0.

mooIn proves that we are 711 1910 from the case in the X723 concerning a
¥n 2°0w, who admitted that he owes someone money, and that person had a
Q™MpPn 1RW WY to that effect, nevertheless the 17 is that we do not pay him
from the estate of the ¥n 22w (unless the ¥y 2DW explicitly said 1n).
MooIN point out that if 71 11°19v XY, the M%7 will collect regardless *192 Xow
M1 (and since the author of this 7597 is [?X1mw1] 29, who maintains that ¥1179
is not believed 717 °»n2, the option of ¥M79 NWv is nonexistent), that
proves that we are 717 1°°1v0 if he will be ®°%w the M7 2192 ROW 0w.

One cannot ask that if 71 1170 then why if a 211 v is found and the m>
claims that it is 7°1, we do not return it to the m>n; if 9wn 1%L let us
return it to the m%», and he would not be able to collect anyways, even X7Ww
mon °192, unless he is o»pn the vw, which would prove the m%n right and
the m> wrong. The answer is that the reason we do not return such a 0w is
because since it is flawed, by the fact that it was lost, and in addition, the m?>
claims that it is 77, we are concerned that he forged it so well that even
the witnesses themselves will be fooled into thinking that it is their own
handwriting. However, if one of these two conditions (i.e. a lost W and a
claim of 7 by the mP?) is not met, we are not concerned about such a
possibility, and 01p is accepted as a proof that it is a valid “vw.

All this is applicable by mnn °1°7, by IwX 03 however we are not 7”12 WY
when the 7wX brings a vi, and we allow her to get married without 21°p,
because of X113y wwn therefore 1127 72 19°pr.

THINKING IT OVER

1. The "7 of YMM2 0»pn> Y PHY W OX) applies to 78w PIX, where there
are »p O°M¥n 0°7Y; how can MoON say that by w3, the 17 is 912 1710 KXY
because 7127 72 19PK RNV own,* why should there be 13V if there are 7Y
MR Pxn?

2. mooIn explains that 7 11190 X2 by a V3 because 72 12°PR RIXNY DWN
1121.45 Later it seems from M»oIN that the reason why 7”1 11190 is (only)

3 See footnote # 6.
* See mwn nbm.
* See footnote # 7.
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because of Npaw XY; since by v the reason of Npaw X2 does not apply there is

no reason for 711 11°1v0, so why does Nv0IN give the reason of X1y DWnN
9174

3. Is the ¥720 of 21 Npaw X7 a reason why 71 P1IvY or a proof that 11°1vv
7. What may be some of the ramifications of these two approaches?

4. What difference is there whether 7 11°1v0 or ¥175 J11°1v0? It seems only
like a procedural matter to insure that the m%n is 0»pn the *vw.

5. Why is there a difference whether the Mm% claims 5”1 before the 0w was
returned to the m’773,48 or whether he claims 717 after the 20w was returned
to the mn?*

APPENDIX5°

The 77 of 13°7 is usually understood in one of two ways. For instance in the
case where the MY claims °ny1o and the MbY2 has a 2™pn WRY 0w,
according to the 7"n who maintains ¥»p% 7% 1200w “Wwa 77N, the M7 is
‘believed’ with his mwv of >nymo, and the MYn cannot collect unless he is
o>>pn the T0w, since the MY has the 131 that he could claim 7°>172 and the mo»
would need to be 0>pn the ww.

We may understand this 3n as a proof that the m> is honest’’ when he
claims °ny"d, for if he were a dishonest person he could have claimed 7>,
and he would not have to pay the m>» unless he is 0°°pn the 0W.

Another way of understanding the 13°» is that it does not necessarily prove
that the MY is honest, but rather since the M7 has the option of claiming
711, we give him the right and the power of 7> N, as if he was 0
7°>111, because he was able to use that 71vv. Therefore the m»n must be 2»pn

4 See a7 on nva ,q"w 2N,
47 See *"19 ,0"1mn and *"521 R
8 See footnote # 42.

* See n"n.

%% See footnote # 15.
3! The case of 7™ma7 13 *ny9, may not be that appropriate as an example of the explanation that 137 is a

177, for seemingly one may wonder what happened to the 71172 after the m%n was 0pn the quw. This case
is being used here for this is the '»n we are currently discussing. A better example may be °n2 *nImn
10IN17.
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the JvWw because the M7 possesses and utilizes his potential of 7™ nivw. The
first way is usually referred to as 717°3; the second as MInNR1 or 1YL MOT.
mooIn discusses the idea that 7"°2 can claim ¥179 on behalf of the 2°»1n° and
require the M1 to be 0>°pn the VW on the strength, that if their father would
have claimed °nyv1o the MmYn would have to be o°°pn the TwWWw since he has a
W of A™m, therefore 7"°2 even though it does not have the n of 7™M,
nevertheless its 7YY of *ny7o carries the same power as the father’s 71vv of
bR

If we were to assume only the first explanation of 1>, namely that it is a
T17°2 that the MY is honest, it is difficult to understand, how the power of this
wn 1s transferred to 7"2. The whole idea of transferring proof that 72 is
telling the truth etc., is totally meaningless. How therefore can 7"°2 cause the
M1 to be 0»pn the W when it claims ¥179; there is nothing backing up the
truthfulness of this claim, as it would have been, had the Mm% claimed >ny .
If however we assume the other explanation of 13°» namely that it is a M>7
mIwwn, then it is easier to comprehend that this N7 that the Mm% had, to force
the M1 to be 0»pn the TwWw through 7> NIYY can be assumed by the 72,
since the 7"2 is in place of the M2, therefore it too can cause the M>» to be
0> pn the VW with 375 NI,
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